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QUESTION 1
PE1 PEZ
ip vrf CEl ip vrf CE2
rd 101 -1 rd 202-:-2
route-target export 100:1 route-target export 200:2
route-target import 200:2 route-target import 100:1
PE3 PE4
ip vrf CE3 ip vrf CEA4
rd 303:3 rd 404:4
route-target export 300:3 route-target export 400:4

route-target import 400:4 route-target import 300:3

Refer to the exhibit. A network engineer has been called to configure the four PE devices in order to enable full
communication among the four CE devices connected to them. While starting to configure, he experienced a
connectivity issue. Which two tasks should the engineer perform in order to begin the process correctly? (Choose two.)
A. Configure PE3 to export route-targets 100:1 and 200:2.

B. Configure PE3 to import route-targets 100:1 and 200:2.

C. Configure PE4 to import route-targets 101:1 and 202:2.

D. Configure PE2 to export route-targets 300:3 and 400:4.

E. Configure PEL1 to import route-targets 300:3 and 400:4.

Correct Answer: AB

QUESTION 2

Which mechanism reduces the network flooding caused by host ARP learning behavior?
A. ARP suppression

B. storm control

C. root guard

D. BPDU guard

Correct Answer: A

Reference: https://www.cisco.com/c/en/us/products/collateral/switches/nexus-7000-series-switches/white-paper-
€11-735015.html
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QUESTION 3

Refer to the exhibit:

R1

ntertace FasiEthemato

P address 10 1 12 1 255 255 255 0
Cupasx tull

and

1

I

I

H1{configeanlerface FasiE tharmat)0
R1(config-fiospiv3 1 aroa 1 ipvd
e IPvE roaitmg nol enabled

A network engineer is implementing an OSPF configuration Based on the output, which statement is true?
A. In the ospfv3 1 area 1 ipv4 command, area 0 must be configured instead of area 1.

B. OSPFv3 does not run for IPv4 on FastEthemet0/0 until IPv6 routing is enabled on the router and IPv6 is enabled on
interface Fastfc.thernet0/0

C. OSPFv3 cannot be configured for IPv4; OSPFv3 works only for IPv6.

D. IPv6 routing not enabled" is just an informational message and OSPFv3 runs for IPv4 on interface FastEthernet0/0
anyway

Correct Answer: B

QUESTION 4

An engineer needs to improve MPLS network management by implementing a set of tools to support the NOC
engineers in troubleshooting network failures. Which feature should the engineer implement to check the connectivity of
the MPLS LSP between the ingress and egress PE routers?

A. MPLS OAM

B. MPLS-TP

C. LDP autodiscovery

D. extended ping

Correct Answer: A

Reference: https://www.cisco.com/c/en/us/td/docs/routers/asr9000/software/asrok_r5-3/mpls/configuration/guide/b-mpls-
cg53x-asr9k/b-mpls-cg53x-asrok_chapter_01000.html

QUESTION 5

What do routers on the network use to avoid routing loops when OSPF is running as the PE-CE routing protocol on a
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service provider network?

A. the AS-Override feature

B. the DN bit with type 3, 5, or 7 LSA

C. the domain tag for type 2 LSA

D. sham links to create a super backbone over the service provider network

Correct Answer: B
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